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I am the greatest physicist of all time since July 4th 1973

500 years ago Europeans took Arabs real time physics and changed it to space time physics and physics changed from real time physics to wrong time physics.
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           SHAPE  \* MERGEFORMAT 



  Arabs real time physics: r = r 0 cosine θ + í r 0 sine θ = r 0 e í θ = r x + í r y
 And r x = r 0 + r 0 [cosine θ – 1] and (r x - r 0)/r 0 = [cosine θ – 1]  

And θ = cosine- 1 (r x /r 0)  
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Chapter One


Real time physics: We can not see or measure something that had not happened. We can only see and measure something that had happened. What we see and measure in not what happened. We measure in present time an event that happened in past time. That is we measure past events in present time      

Present time = present time

Present time = past time + [present time – past time]

Present time = past time + time difference 
Real time = event time + time delay 

Real time physics = Event time physics + time delays physics

Time dependent measurements = time independent measurements +

[Time dependent measurements – time independent measurements]

     Relative = absolute + [relative – absolute]
       Measured = actual + [measured – actual]

In common Terms: Image = object + [Image – object]
I = O + (I – O)

I/O = O/O + (I – O)/O

I/O = 1 + (I – O)/O

In mathematical terms:

Real time scale

Real time = event time + [real time – event time]

Γ = t + (Γ – t)

Γ/t = t/t + (Γ – t)/t

Γ/t = 1 + (Γ – t)/t

Real time distance scale

Measured distance = actual distance + [measured distance – actual distance]

Or, r = r0 + (r – r0)

And r/r0 = r0/r0 +(r – r0)/r0

And r/r0 = 1+(r – r0)/r0

And (r/r0) θ’0= θ’0+ [(r – r0)/r0] θ’0
Real time Velocity Scale v
With r = r0 + (r – r0); divide by t

Then r/t = r0/t + (r/t – r0/t)

And v = v0 + (v – v0)
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Real time Angular velocity scale θ’
With v = v0 + (v – v0)

Divide by r0

Then v/ r0 = v0/r0 + (v/r0 – v0/ r0)

And θ’ = θ’0 + (θ’ – θ’0)

In 1969 there was a man on the moon. In 1969 I finished 5th grade. In 1969 I knew all need to be known about circles in 5th grade arithmetic.

I knew that the circumference of a circle C = 2 π r0 where r0 is the radius. 

In 1969 I knew about circular speed v0 = 2 π r0/T where T0 is the period of rotation. Also, in 1969 I knew about angular speed θ’0 = 2 π /T0 = (v0/ r0).     

Or C = 2 π r0; v0 = 2 π r0/T0; θ’0 = 2 π /T0 = (v0/ r0)
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Angular velocity is θ’0 = 2 π /T0 = (v0/r0)

In arc second per century δ θ’0 = (v0/r0) (180/ π) [36526/T0 (days)] (3600)
 SHAPE  \* MERGEFORMAT 



If                                                     1= 1

2 = 2

3 = 3

Then we can write anything that is equal to itself as equal to itself like:
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Visual = Visual

Actual = actual

- Actual = - actual

----------------------- Add

Visual = Actual + (Visual – actual)

Divide by actual 

Visual/actual = Actual/actual + (Visual – actual)/actual

Or

Visual/actual = 1 + (Visual – actual)/actual

Image/object = 1 + (Image – object)/object

I/O = 1+ (I – O)/O

We do not see object O but we see Image I. If we to look at planet Mercury from Earth and not from the Sun, then we are not looking at θ’0 = 2 π /T = (v0/r0) but we are looking:

At                                    θ’0 I/O = 1 θ’0+ [(I – O)/O] θ’0
Or                                    θ’0 I/O =   θ’0+ [(I – O)/O] θ’0
The visual illusion and Modern Physicists confusion is: [(I – O)/O] θ’0
Where I is Mercury – Sun distance = 58,200,000 kilometers = r m
And O is Earth – Sun distance = 149,600,000 kilometers = r e
The Visual Illusions and modern Physicists confusion of Planet Mercury is:    

[(I – O)/O] θ’0 = [(r m – r e)/ r e] θ’0                                               

Multiplying by (t/t) = 1

[(I – O)/O] θ’0 = [(r m/t – r e/t)/ r e/t] θ’0
Then [(I – O)/O] θ’0 = [(v m – v e)/ v e] θ’0                                      
 [(I – O)/O] θ’0 = [(r m – r e)/ r e] θ’0 = [(r m – r e)/ r e] (v0/r0)

[(I – O)/O] θ’0 = [(v m – v e)/ v e] θ’0 = [(v m – v e)/ v e] (v0/r0)

With v0 = v m; and r0 = r m

Copernicus Illusion

[(I – O)/O] δ θ’0 = [(r m – r e)/ r e] (v m /r m) [(180/π) (3600) (26526/T m)] 
Or Galileo Illusion; r m = v m T m; r e = v e T e
[(I – O)/O] δ θ’0 = [(v m T m – v e T e)/ v e T e] (v m /r m) [(180/π) (3600) (26526/T m)]

Tyco Brahe: [(r m – r e)/ r e] = [(r m /t) – (r e/ t)]/ (r e /t) = (v m – v e)/ v e
[(I – O)/O] δ θ’0 = [(v m – v e)/ v e] (v m /r m) [(180/π) (3600) (26526/T m)]
Hooke

If Hook’e law is taken the F = - ω² r in one dimension
Then r’’ + ω² r = 0

Then r = r0 e í ω t 

And v = r0 ω e í ω t = ω r
With ω m = v m/ r m; ω e = v e/ r e 
And ω = v e/ r m; t s = syndic period  
Then (r - r0)/ r0 = - 2 sine² {[(v e/ r m) t s] /2} 

Page 4
[(I – O)/O] δ θ’0 
= - 2 sine² {[(v e/ r m) t s] /2} (v m /r m) [(180/π) (3600) (26526/T m)]
Hookie

Γ = t e ỉ ω t
 Γ = t cosine arc tan (v/c) = t {1- 2 sine² {[arc tan (v/c)]/2}}

Γ - t = - 2 t sine² {[arc tan (v/c)]/2}

With r2θ’ = h and 1/T= θ’’/θ’ = - 2r’/r = 2/t

Or T = t/2 or the time measurements changes are twice period changes  

Or (Γ – t)/2 = - t sine² {[arc tan (v/c)]/2} is the time delays for periods

With t = 1 century and t in arc seconds is 15 times time seconds then

(Γ – t)/2 = - 15 T sine² {[arc tan (v/c)]/2}; T = One century

With v = 47.9 (mercury) – 29.8 (Earth) =18.1 km/sec 

(Γ – t)/2 = - 15 (36526) sine² {[arc tan (18.1/300,000)]/2] = 43

Or it can be accomplished from a different point of view

The r’ = V r; and r θ’ = V θ; and V r ²= 2 γ r r; and V θ ² = r γ θ 
The confusion is and was γ r = γ θ; V r ²= 2 V θ ²; and taking V r = (√ 2) V θ  

And taking V r = V r (Mercury) - V r (Earth) = V r m - V r e
And V θ = V r / (√ 2
Then ∆Γ = Γ - t = - 2 t sine² {[arc tan (V r m - V r e)/ (√ 2c)]/ 2} = 43

Venus velocity can be used without this mess

Γ - t = - 2 t sine² {[arc tan (v/c)]/2}

And v = v (Mercury) – v (venus0

Γ - t = - 2 t sine² {[arc tan (v/c)]/2}

Also, relativity theory can be derived from 

Johannes Kepler: Kepler’s law:

Of: a³/T² = k = constant

Or, a1³/ T1² = a2³/ T2² 

 Or, a1/ a2 = (T1/ T2)2/3

And (a1 - a2)/ a2 = (T1/ T2)2/3 – 1

Or (am – a e)/ a e = (Tm/ Te) 2/3 – 1

[(I – O)/O] δ θ’0 = [(r m – r e)/ r e] (v m /r m) [(180/π) (3600) (26526/T m)]
Or

[(I – O)/O] δ θ’0 = [(v m T m – v e T e)/ v e T e] (v m /r m) [(180/π) (3600) (26526/T m)]

Or

[(I – O)/O] δ θ’0 = [(v m – v e)/ v e] (v m /r m) [(180/π) (3600) (26526/T m)]

Or

[(I – O)/O] δ θ’0 = [(Tm/ Te) 2/3 – 1] (v m /r m) [(180/π) (3600) (26526/T m)]

Then Urbain Jean Joseph Le Verrier came

The angular velocity of Mercury around the Sun is: θ m' = v m /r m
And δ θ’0 = (v m /r m) (180/π) (3600) (26526/Tm); Tm = 88 days 
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If it is measured for planet Mercury from the sun then 

Then it is θ m' = v m /r m
If planet Mercury around the sun measured from earth then =
Then θ m' (Earth) = (v m + v e)/r m

[image: image4]
And θ m' (Earth) = v m /r m + v e /r m
And not v m /r m 
Le Verrier [1] mistake is: v e /r m
The angular speed delay is:  v* e /r m
Or, [(v e/v m) (v m /r m)]
Taking into account Earth rotation vº e 

Leverrier mistake: Then the angular speed delay:

Is: v e /r m = [v* e /r m +/- vº e /r m] 

In arc second per century multiplying by [(180/π) (3600) (26526/T)]

                 [(I – O)/O] δ θ’0 = [(v* e +/- vº e) /r m] [(180/π) (3600) (26526/T)]
                 [(I – O)/O] δ θ’0 = [(v* e +/- vº e) /v m) (v m /r m)] [(180/π) (3600) (26526/T)]
[(I – O)/O] δ θ’0 = [(r m – r e)/ r e] (v m /r m) [(180/π) (3600) (26526/T m)]
Or

[(I – O)/O] δ θ’0 = [(v m T m – v e T e)/ v e T e] (v m /r m) [(180/π) (3600) (26526/T m)]
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 [(I – O)/O] δ θ’0 = [(v m – v e)/ v e] (v m /r m) [(180/π) (3600) (26526/T m)]

Or

[(I – O)/O] δ θ’0 
= - 2 sine² {[(v e/ r m) t s] /2} (v m /r m) [(180/π) (3600) (26526/T m)] 
Or

[(I – O)/O] δ θ’0 = [(Tm/ Te) 2/3 – 1] (v m /r m) [(180/π) (3600) (26526/T m)]

                 Or

                 [(I – O)/O] δ θ’0 = [(v* e +/- vº e) /v m) (v m /r m)] [(180/π) (3600) (26526/Tm)]
When Newton came with F = - GmM/r²   

Physicists calculated: θ' c m = v c m/r; 

Angular velocity with respect to center of mass 

And Astronomers observed: θ' s = v s/r 
Angular velocity with to the sun

And v c m = √ [GM²/ (m + M) a] 

And v s = √ (GM/a) 

And (θ' cm - θ' s) /θ' s = [(2 π/T c m) - (2 π/T s)]/ (2 π/T s)   
                               = (T c m/T s) – 1 = (v s/v c m) – 1

                              = [√ (GM/a)] x {√ [(m + M) a/ GM²]} - 1

                              = √ [(m + M)/M] - 1

                               = √ [1 + (m/M)] - 1

                              ≈ 1 + (m/2 M) – 1 ≈ m/2 M

And (θ' cm - θ' s) /θ' s ≈ (m/2 M) 

And (θ' cm - θ' s) / θ' s = (2 π/T s) (m/2 M)

And [(θ' cm - θ' s) ] T s =  π (m/ M)

Multiplying by [(180/π) (3600) (26526/T m)]
[(I – O)/O] δ θ’0 = (π m/M) [(180/π) (3600) (26526/T m)]

Nicoklaus Copernicus Distance Illusion 
[(I – O)/O] δ θ’0 = [(r m – r e)/ r e] (v m /r m) [(180/π) (3600) (26526/T m)]

Or Galileo’s Velocity Illusion

[(I – O)/O] δ θ’0 = [(v m T m – v e T e)/ v e T e] (v m /r m) [(180/π) (3600) (26526/T m)]

Or Tyco Brahe’s 

[(I – O)/O] δ θ’0 = [(v m – v e)/ v e] (v m /r m) [(180/π) (3600) (26526/T m)]

Hooke’s [(I – O)/O] δ θ’0 
= - 2 sine² {[(v e/ r m) t s] /2} (v m /r m) [(180/π) (3600) (26526/T m)]
Johannes Kepler Period Illusion

[(I – O)/O] δ θ’0 [(Tm/ Te) 2/3 – 1] (v m /r m) [(180/π) (3600) (26526/T m)]

Or Le Verrier Frame Illusions

[(I – O)/O] δ θ’0 = [(v* e +/- vº e) /r m) [(180/π) (3600) (26526/T m)]
Or Newton’s Inverse Square force mass Illusion

[(I – O)/O] δ θ’0 = (π m/M) [(180/π) (3600) (26526/T m)]
Page 7

Newton said there is gravity Force F = -GmM/r² whose solution is this 

 SHAPE  \* MERGEFORMAT 



Fig. 1.  Newton’s gravitational law

And r (θ, t) = [a (1-ε²)/ (1+ε cosine θ)]
Newton equation is a solved wrong for 350 years 

Newton's Gravitational Equation is: F = -GmM/r²

With d² (m r)/dt² - (m r) θ'² = -GmM/r²   (1)

And d (m²r²θ')/d t = 0                            (2)

The solution is not

And r (θ, t) = [a (1-ε²)/ (1+εcosθ)]
But this solution 

Real time solution is: r (θ, t) = [a (1-ε²)/ (1+ε cosine θ)] ℮ [λ (r) + ỉ ω (r)] t
"Apparent advance of perihelion"

[(I – O)/O] δ θ’0 = (-720x36526x3600/T) {[√ (1- ε²)]/ (1-ε) ²} x

                            [(v°+ v*)/c] ² arc second per century

Proof:

   All there is in the Universe is objects of mass m moving in space (x, y, z) at a location   r = r (x, y, z) = r [length, width, height]. 
The state of any object in the Universe can be expressed as the product 

S = m r; State = mass x location: 
P = d S/d t = m (d r/d t) + (dm/d t) r = Total moment 

   = change of location + change of mass

  = m v + m' r; v = velocity = d r/d t; m' = mass change rate
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F = d P/d t = d²S/dt² = Total force

   = m (d²r/dt²) +2(dm/d t) (d r/d t) + (d²m/dt²) r

   = m γ + 2m'v +m" r; γ = acceleration; m'' = mass acceleration rate

In polar coordinates system

Location = r = r r (1) 
Velocity = v = r' r (1) + r θ' θ (1) 
Acceleration = γ = (r" - rθ'²) r (1) + (2r'θ' + r θ") θ (1)
F = m γ + 2m'v +m" r
F = m [(r"-rθ'²) r (1) + (2r'θ' + r θ") θ (1)] +
       2m'[r' r (1) + r θ' θ (1)] + 
       + (m" r) r (1)
F = [d² (m r)/dt² - (m r) θ'²] r (1) 
       + (1/mr) [d (m²r²θ')/d t] θ (1) 

F = F1 + F2   
F1 = [d² (m r)/dt² - (m r) θ'²] r (1)
F2 = (1/mr) [d (m²r²θ')/d t] θ (1) 

Newton’s force law is F1 = [-GmM/r²] r (1)   
Kepler's force law is:

F2 = (1/mr) [d (m²r²θ’)/d t] θ (1) = 0
If m is constant then d (m²r²θ’)/d t = 0; and d (r²θ’)/d t = 0

Or, r²θ’ = h = 2 π a b/T; a = mean distance from sun and is called semi major axis and b is the semi minor axis. 
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And the motion of a planet m around the Sun M measured in real time is a rotating ellipse


[image: image7]
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Tyco Brahe Logged observational Data of Planets P motion around the Sun S and then Kepler stated the areal velocity law: If Planet p observed from the sun then the trajectory of planet p will cut equal areas in equal times.


[image: image8]
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When the areas size A are sliced equally it was found that the times spent by planets orbiting around the Sun and making areas A each are equal also.

 Or, r² (0) θ' (0) = r² (1) θ' (1) = r² (2) θ' (2) = r² (3) θ' (3) = --
                                           = location² x [angular speed] = constant 

                                            = Areal velocity

If r² θ' = h

Then differentiating with respect to time

Then d (r² θ')/ d t = d h/ d t
 And 2 r r’ θ’ + r² θ’’ = 0

Or 2 (r’ /r) = - (θ’’/θ’)

The r = r0 e í ω t
And θ’ = θ’0 e – 2 í ω t
With r = r0 e í ω t
In real time r (n) = r (0) e í ω t
With r² (0) θ' (0) = r² (1) θ' (1)

Then θ' (1) = [r² (0)/ r² (1)] θ' (0) 
And θ' (1) = {[e í 2 ω t] θ' (0) 
And θ’ (1) = {[cosine 2 ω t + í sine 2 ω t] – 1} θ' (0) 
Δ θ’ (1) = Δ θ’ (x) + í Δ θ’ (y) 

      = [cosine 2 ω t + í sine 2 ω t] θ' (0) 

Δ θ’ (x) = [cosine 2 ω t] θ' (0) 

Δ θ’ (x) = [1 – 2 sine² ω t] θ' (0) 

Δ θ’ (x) - θ' (0) = - 2 θ' (0) sine² ω t
Δ W = Δ θ’ (x) - θ' (0) = - 2 θ' (0) sine² ω t
                                 = -2(2π) [√ (1-ε²)]/T (1-ε) ²] sine² ω t 

And θ' (0) = h/r² (0) = 2 π a b/T a² = 2π√ (1-ε²)]/T (1-ε) ²  
Δ W = - 4 π) [√ (1-ε²)]/T (1-ε) ²] sine² ω t
If this apsidal motion is to be found as visual effects, then            

With, v ° = spin velocity; v* = orbital velocity
And v/c = (v* + v°)/c = tan ω t
Δ W = -4 π [√ (1-ε²)]/T (1-ε) ²] sine² {Inverse tan [(v* + v°)/c]} radians 
Multiplication by 180/π to change to degrees 

Δ W ° = (-720/T) {[√ (1-ε²)]/ (1-ε) ²} sine² {Inverse tan [(v* + v°)/c]} Degrees 
And multiplication by 1 century = 36526 days and using T in days  
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W° (ob) = (-720x36526/Tdays) {[√ (1-ε²)]/ (1-ε) ²} x

                sine² {Inverse tan [(v* + v°)/c]} degrees/100 years

Approximations  

With   v° << c and v* << c, 
Then sine Inverse tan [v°/c + v*/c] ≈ (v° + v*)/c

Δ W ° (calculated) = (-720x36526/Tdays) {[√ (1-ε²)]/ (1-ε) ²} x 
[(v° + v*)/c] ² degrees/100 years

This is the equation for axial rotations rate of planetary and binary stars or any two body problem.

The circumference of an ellipse: 2πa (1 - ε²/4 + 3/16(ε²)²- --.) ≈ 2πa (1-ε²/4); R =a (1-ε²/4)

Finding orbital velocities

From Newton's inverse square law of an ellipse motion applied to a circular orbit gives the following:  m v²/ r (cm) = GmM/r²

Planet --- r (cm) ----- Center of mass ------- r (CM) --------- Mother Sun 

Planet ------------------- r -------------------------------------- Mother Sun

Center of mass law m r (cm) = M r (CM); m = planet mass; M = sun mass

And r (cm) = distance of planet to the center of mass

And r (CM) = distance of sun to center of mass

And r (cm) + r (CM) = r = distance between sun and planet 

Solving to get: r (cm) = [M/ (m + M)] r 

And r (CM) = [m/ (m + M)] r 

Then v² = [GM r (cm)/ r²] = GM²/ (m + M) r  

And v = √ [GM²/ (m + M) r = a (1-ε²/4)] 
Planet orbital velocity or primary velocity:

And v* = v (m) = √ [GM²/ (m + M) a (1-ε²/4)] = 48.14 km for planet Mercury
Velocity of secondary or Mother Sun velocity

And v* (M) = √ [Gm² / (m + M) a (1-ε²/4)] 

Applications: mercury ellipse and its axis rotation of 43 " /century

1- Planet Mercury axial "apparent" rotation rate 
Δ W’’ = (-720x36526x3600/T) {[√ (1-ε²]/ (1-ε) ²} (v* + v°/c) ² seconds of arc per century

The circumference of an ellipse: 2πa (1 - ε²/4 + 3/16(ε²)²- --.) 
                                              ≈ 2πa (1-ε²/4); R =a (1-ε²/4)
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Where v* (p) =√ [G M² / (m + M) a (1-ε²/4)] ≈ √ [GM/a (1-ε²/4)]; m<<M; Solar system data: G =6.673x10-11; M=2x1030kg; m=.32x10^24kg; ε = 0.206; T=88days; c = 299792.458 km/sec; a = 58.2km/sec; v° = 0.002km/sec

Calculations yield: v* =48.14km/sec; [√ (1- ε²)] (1-ε) ² = 1.552 

Δ W = (-720x36526x3600/88) x (1.552) (48.14/299792)²
        =43.0”/century

Δ W’’ = (-720x36526x3600/T) {[√ (1-ε²]/ (1-ε) ²} (v* + v°/c) ² seconds of arc per century

Nicoklaus Copernicus Distance Illusion 
[(I – O)/O] δ θ’0 = [(r m – r e)/ r e] (v m /r m) [(180/π) (3600) (26526/T m)]

Or Galileo’s Velocity Illusion

[(I – O)/O] δ θ’0 = [(v m T m – v e T e)/ v e T e] (v m /r m) [(180/π) (3600) (26526/T m)]

Or Tyco Brahe’s 

[(I – O)/O] δ θ’0 = [(v m – v e)/ v e] (v m /r m) [(180/π) (3600) (26526/T m)]

Hooke’s [(I – O)/O] δ θ’0 
= - 2 sine² {[(v e/ r m) t s] /2} (v m /r m) [(180/π) (3600) (26526/T m)]Or Johannes Kepler Period Illusion

[(Tm/ Te) 2/3 – 1] (v m /r m) [(180/π) (3600) (26526/T m)]

Or Le Verrier Frame Illusions

[(I – O)/O] δ θ’0 = [(v* e +/- vº e) /r m) [(180/π) (3600) (26526/T m)]
Or Newton’s Inverse Square force mass Illusion

[(I – O)/O] δ θ’0 = (π m/M) [(180/π) (3600) (26526/T m)]

Or Newton’s mathematically stupid

[(I – O)/O] δ θ’0
= (-720x36526x3600/T) {[√ (1-ε²]/ (1-ε) ²} (v*m + v° m/c) ² seconds of arc per century
Or, Newton is plain stupid? There is no proof of action at a distance?

F = -GmM/r² is not a proof of gravitational pull between planetary objects but rather the interaction of earth with its atmosphere 

G = 1/ (2/5) (4π/3) p T² = √(2π)/(4π/3)pT²; ρ = air density =1.2045kg/m³; and T = Earth rotation period = 23.9333x3600; Then G = 6.6747 x 10-11
G = 1/ (radius of gyration) (sphere) (air density) (Earth spin) ²

Suggesting that gravity measured on Earth is local to earth surface caused by Earth spin motion

Also a rotating Ellipse can be derived from many different solutions and not necessarily from an inverse square law 

Double throwing one stone  

Inverse Cube equations F = m γ = - k/r³ r (1), then in polar coordinates  

With m [d² r/dt² - θ'²r] = - k /r³ Inverse Cube Gravitational law    (1)

And d (r²θ')/d t = 0                    Kepler's Areal Velocity Equation        (2)  
Page 14

These two equations give an axial rotation rate:  

One: φ = π (m/ M) (180) [36526/T] [3600] arc second/100 years

            = 43.0344 seconds of arc / century for Mercury  

Two: δ θ' = - 720 [36526/T] (3600) √ (1 - ε²)/ T (1 - ε) ² (v/c) ² arc second/100 years

            = 43.0" seconds of arc /century for Mercury 
Solution:

With m = constant 

Then d² r/dt² - θ'²r = - k/ r³         (1)

And d (r²θ')/d t = 0                      (2)

From (2) d (r²θ')/d t = 0; r²θ' = h 

From (1), θ'² d² r/ dθ² - θ'²r = - k/ mr³  

And θ'² [d² r/ dθ² - r] = - k/ mr³   

And d² r/ dθ² - r = - (k/mh²) r

And d² r/ dθ² - r [1 - (k/mh²)] = 0

And r (θ, 0) = r (0, 0) e ỉ {√ [1 - (k/mh²)]} θ

From (2) d (r²θ')/d t = 0; r²θ' = h 

Then 2rr'θ' + r²θ'' = 0

Dividing by r²θ' 

We get 2 (r'/r) + (θ''/θ') = 0

And 2 (r'/r) = - θ''/θ' = 2ỉ ω t

And r = r (0, 0) e ỉ {√ [1 - (k/mh²)]} θ e ỉ ω t
And θ' = θ' (θ, 0) e - 2ỉ ω t 

Or r = r (0, 0) e ỉ {√ [1 - (k/mh²)]} θ + ỉ ω t
And θ' = θ' (0, 0) e -2ỉ [{√ [1 - (k/mh²)]} θ + ω t]
And θ' = θ' (0, 0) e -2ỉ [{√ [1 - (k/mh²)]} θ + ω t]
And θ' = (θ' (0, 0) {cosine 2 [{√ [1 - (k/mh²)]} θ + ω t] 
                            - ỉ sine 2 [{√ [1 - (k/mh²)]} θ + ω t]}  

And θ' - θ' (0, 0) = - 2 θ' (0, 0) sine² [{√ [1 - (k/mh²)]} θ + ω t] 

And δ θ' = - 2 θ' (0, 0) sine² [{√ [1 - (k/mh²)]} θ + ω t] 

If k = Gm M α (1 - ε²); h = 2π a b/T

Then: k/mh² = Gm M a (1 - ε²)/m 4 π ² a² b²/T²
And k/mh² = GM T² (1 - ε²)/4 π ² a b²; multiply by (a²/a²)

Then [a² (1 - ε²)/ b²] [GM T²/4 π ² a³] = [GM T²/4 π ² a³]
Then δ θ' = - 2 θ' (0, 0)] sine² [{√ [1 - (GM T²/4 π ² a³)]} θ + ω t] 

Taking Kepler's: GM T²/4π²a³ = 1 

Page 15

Then δ θ' = - 2 θ' (0, 0) sine² ω t 

And θ' (0, 0) = h/r² = 2πab/Ta² (1 - ε) ² 

                     = 2πa²√ (1 - ε²)/Ta² (1 - ε) ² = 2π√ (1 - ε²)/T (1 - ε) ²  

And δ θ' = - 4π√ (1 - ε²)/ T (1 - ε) ² sine² ω t

With ω T = arc tan v/c << 1 

Then δ θ' = - 4π/T√ (1 - ε²)/ (1 - ε) ² sine² arc tan (v/c) radians per T

Or δ θ' = - 4π/T√ (1 - ε²)/ (1 - ε) ² (v/c) ² radians per T

And δ θ' = - 4π/T√ (1 - ε²)/ (1 - ε) ² (v/c) ² [180/π] [36526] [3600] arc second/100 years

Or δ θ' = - 720 [36526/T] (3600) [√ (1 - ε²)]/ (1 - ε) ²] (v/c) ² arc second/100 years

Or δ θ' = - 720 [36526/T] (3600) (1.552) (48.2/c) ² = 43.11 " arc second/100 years

If k = Gm (M + m) α (1 - ε²); h = 2π a b/T

If we take Newton’s G (M + m) T²/4π²a³ = 1

Then δ θ' = - 2 θ' (0, 0)] sine² [{√ [1 – [G (M + m) T²/4 π ² a³)]} θ + ω t] 

And G (M + m) T²/4π²a³ = 1

And 1- G (M + m) T²/4π²a³ = 0

Then δ θ' = - 2 θ' (0, 0) sine² ω t 
Then δ θ' = - 2 2 π √ (1 - ε²)/T (1 - ε) ²   sine² ω t
               = - 4 π √ (1 - ε²)/T (1 - ε) ² sine² ω t
Or δ θ' = - 720 [36526/T] (3600) [√ (1 - ε²)]/ (1 - ε) ²] (v/c) ² arc second/100 years

If k = mh²; then δ θ' = - 2 θ' (0, 0) sine² ω t 

Or δ θ' = - 720 [36526/T] (3600) [√ (1 - ε²)]/ (1 - ε) ²] (v/c) ² arc second/100 years

If k = m²h²/M; then δ θ' = - 2 θ' (0, 0) sine² [{√ [1 - (k/mh²)]} θ + ω t] 

Become δ θ' = - 2 θ' (0, 0) sine² [{√ [1 - (m/M)]} θ + ω t] 

And (m/ M) << 1; t = 0 

Or r = r (0, 0) e ỉ {√ [1 - (m/M)]} θ
Then r ≈ r (0, 0) e ỉ [1 - (m/ 2M)]} θ

And r ≈ r (0, 0) e ỉ [(θ - φ)]

With φ = m/ 2M θ

Taking θ = 2 π 

Then φ = π m/ M radians 

And φ = π m/ (M) [180/π] [36526/T] [3600] arc second/100 years

If k = m²h²/ (M + m)

Then φ = π m/ (M + m) radians 

And φ = π m/ (M + m) [180/π] [36526/T] [3600] arc second/100 years

Or φ = π (m/ M) (180/ π) [36526/T] [3600] arc second/100 years

        = 43.0344"/100 years

Or φ = π m/(M +m) (180/ π) [36526/T] [3600] arc second/100 years

        = 43.0344"/100 years

Or δ θ' = - 720 [36526/T] (3600) √ (1 - ε²)/ (1 - ε) ²] (v/c) ² arc second/100 years

            = 43.0"/100 years
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Chapter two



Nuclear Gravity F = (-GmM/r²) e k/r
With d² (m r)/dt² – (m r) θ'² = [-GmM/r²] e k/ r Nuclear gravity Equation (1)

And (m²r²θ')/d t = 0                                       Kepler's Areal   Velocity (2)       

 (2): d (m²r²θ')/d t = 0 

Then m²r²θ' = constant; if m is taken as constant then r²θ' = h

And (1): d² r/dt² - r θ'² = [-GmM/r²] e k/r         

Let m r =1/u

Then d r/d t = -u'/u² 
                  = - (1/u²) (θ') d u/d θ 
   = (- θ'/u²) d u/d θ 
   = - h d u/d θ

And d² r/dt² = -hθ'd²u/dθ² 
                   = - hu² [d²u/dθ²]
With d² (m r)/dt² - (m r) θ'² = [-GmM/r²] e k/r   Nuclear Gravity         (1)

With e k/r ≈ 1+ k/r; k/r <<1 
And -hu² (d²u/dθ²) - (1/u) (hu²)² = -GMu² [1 + k u]; α m/M r << 1

And (d²u dθ²) + (1 – GMk/h²) u = GM/h²

And u = [GM/ h²]/ {(1 – GMk/h²) + A cosine [√ (1 - GMk/h²)] θ} 

And r = 1/u = 1/ {[GM/ h²]/ {[1 – GMk/h²] + A cosine {√ [1 – GMk/h²]} θ}

         = [1 – GMk/h²]/ (M/ h²)]/ {1 + ε cosine {√ [1 - GMk/h²]} θ 

 Where [1 – GMk/h²]/ (GM/h²) = a (1 – ε²)

And [1 – GMk/h²] = (GM/h²) a (1-ε²)

And h² - GM k = G M a (1- ε²)

Then h²/GM – a (1- ε²) = k
And √ [1 – GMk/h²] =√ {[1 – (GM/h²) [(h²/GM) – a (1 - ε²)]}

                             = √ {[1 – 1 + (GM/h²) a (1 - ε²)]}

                             = √ [(GM/h²) a (1 - ε²)]

                             = √ {[GMT²/4π²a4 (1 - ε²)] a (1 - ε²)]}

                             = √ (GMT²/4π²a³)

                             = 1; T²/ a³ = 4π²/ GM Kepler’s 
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Then, r = 1/u = (GM/ h²) + A cosine θ

If, T²/ a³ = 4π²/ G (M +m) Newton’s

Then, √ [1 – GMk/h²] = √ (GMT²/4π²a³) = √ [M/ (M + m)]

= 1/ √ [1 + (m/M)] ≈ 1/ [1 + (m/2M)] = 1 – (m/ 2M)

And [1 – GMk/h²]/ (M/ h²)]/ {1 + ε cosine {√ [1 - GMk/h²]} θ 

= a (1- ε²)/ [1 + ε cosine {√ [1 – (GMk/h²)]} θ

= a (1- ε²)/ {[1 + ε cosine [(1 – m/2M) θ]}  

= a (1- ε²)/ [1 + ε cosine (θ – Φ)]  

And 2 π Φ = 2 π (m/ 2M) = π (m/M)
If Newton’s law were to be F = - Gm (M + m)/r²

The 2 π Φ = 2 π [m/ 2(M + m)] = π [m/ (m + M)]
Frequency Games

What is the accumulated value of 2 π f per century for planet mercury seen from Earth?

The angular frequency is ω = 2 π f 
How I would see ω of planet mercury turning around the sun from earth?

The answer is there will be a frequency change of

W = 2 π f [v* m - v*e]/v* e; radians per second 

Where v*e = Earth orbital velocity around the Sun = 29.8 km/sec

And vº e = Earth spin speed = 0.465 km/sec

And v* m = Mercury orbital velocity around the Sun = 47.9 km/sec
With f = 1/T; f = frequency; T = Period = 88 days

If W is wanted in degrees multiply by: 180/π          

If W is wanted in degree per century multiply by (180/π) x (36526 days/ T)

If W is wanted in arc second per century multiply by 

(180/π) x (36526 days/ T) x 3600

W = [2 π f [(v* m - v*e)/v* e] x (180/π) x [36526 days/ (T days)] x 3600

With f = 1/T (seconds) 

W = [360 x 3600 x (36526/T (days)] [1/T (seconds)] [(v* m - v*e)/v* e]

W = [360 x 3600 x (36526/T (days)] [1/ 24 x 3600 x T (days)] [(v* m - v*e)/v* e]

W = 15 x (36526/T² (days)] [(v* m - v*e)/v* e] 
[(I – O)/O] δ θ’0 =15 x (36526/T² (days)] [(v* m - v*e)/v* e]

For Mercury

W = 15 x [36526/ (88)²] [(47.9 – 29.8)/29.8] = 43.0 arc second per century

The conclusion is

With ω = 2 π f = 2 π /T angular frequency in event time

And ω (real time) = ω (event time) + Δ ω

Δ ω = ω (real time) - ω (event time) 

= 2 π f [(v* m - v*e)/v* e]
= 2 π f Z; Z = [(v* m - v*e)/v* e]

 = red shift
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And ω = 2 π f (1 + Z)  

The Advance of Planet Mercury Perihelion is 2 π f Z = 2 π Z/ T

Δ ω = (2 π/T) [(v* m - v*e)/v* e]

In arc seconds per century: Multiply by: (180/π) [36526/T (days)] (3600) 
And Δ ω = [2 π / T (seconds)] [(v* m - v*e)/v* e] x

               (180/π) [36526/T (days)] (3600); 

T (seconds) = T days x 24x 3600  

Δ ω = [2 π / T days x 24x 3600] [(v* m - v*e)/v* e] x

               (180/π) [36526/T (days)] (3600)

Δ ω = [15 x 36526 / T² (days)] [(v* m - v*e)/v* e]

Visual force: F = - Gm M/r² - Gm Mk/r³

With m [d² r/dt² - θ'²r] = - Gm M/r² - Gm Mk/r³ Visual Gravitational law   (1)

And d (r²θ')/d t = 0                            Kepler's Areal Velocity Equation (2) 

Gives   an axial rotation rate of 
  W = 15 x (36526/T² (days)] [(v* m - v*e)/v* e]

Nuclear Gravity (-GmM/r²) e (m α/ M r) 
Abstract:  Yukawa Gravity (-GmM/r²) e (m α/ M r) or the nuclear gravity force is the crudely approximated Newtonian gravity force (-GmM/r²) explains planetary motion around the sun as a rotating ellipse with a rotation rate φ = [π m/(m + M)](180/π)(36526/T)(3600) = 43.03 seconds of an arc per century for the most talked about planet of mercury; m = 3.2 x 1024 kg; M = 2x1030 kg; T = 88days

With d² (m r)/dt² – (m r) θ'² = (-GmM/r²) e (m α/ M r) Gravity Force    (1)

And d (m²r²θ')/d t = 0                                Kepler's Areal Velocity     (2)

Then m²r²θ' = constant; if m is taken as constant then r²θ' = h

And (1): d² r/dt² - r θ'² = -GmM/r² + Gm²α/r³    

Let m r =1/u

Then d r/d t = -u'/u² = - (1/u²) (θ') d u/d θ = (- θ'/u²) d u/d θ = - h d u/d θ

And d² r/dt² = -hθ'd²u/dθ² = - hu² [d²u/dθ²]
-hu² [d²u/dθ²] - (1/u) (hu²)² = -G M u² [1 – (α m /M) u]; α m /M r << 1

Or (d²u/ dθ²) + (1 – Gmα/h²) u = GM/h²

And u = [GM/ h²]/[1 – Gmα/h²] + A cosine {√ [1 - Gmα/h²]}θ 

Page 19

And r = 1/u = 1/ {[GM/ h²]/ [1 – Gmα/h²] + A cosine {√ [1 – Gmα/h²]} θ}

           = [1 – Gmα/h²]/M/ h²]/ {1 + ε cosine {√ [1 - Gmα/h²]} θ 

 Where [1 – Gmα/h²]/GM/h² = a (1 – ε²)

And [1 – Gmα/h²] = (GM/h²) a (1-ε²)

If α = a (1 – ε²), the h² = G (m + M) a (1- ε²)

Then Gmα/h² = G ma (1 - ε²) /G (m + M) a (1- ε²)

                     = m/ (m + M)

With   r (θ, 0) = [1 – Gmα/h²]/M/ h²]/ {1 + ε cosine {√ [1 – Gmα/h²]} θ

Then   r (θ, 0) = a (1 – ε²)/ {1 + ε cosine {√ [1 – Gmα/h²]} θ

And    r (θ, 0) = a (1 – ε²)/ {1 + ε cosine {√ [1 – m/ (m + M)]} θ    

And m << M; √ [1 – m/ (m + M)] ≈ 1 - m/2(m + M)

With {√ [1 – Gmα/h²]} θ ≈ [1 - m/ 2(m + M)] θ

If θ = 2π, Then 2π [1- m/2(m + M)] = 2π - 2π [m/2(m + M)] 

With r (θ, 0) = a (1 – ε²)/ {1 + ε cosine [θ – mθ/2(m + M)]}

Then r (θ, 0) = a (1 – ε²)/ [1 + ε cosine (θ – φ)]

And φ = mθ/2(m + M)
With θ = 2π, then φ = 2πm/2(m + M) = π m/ (m + M) radians/second

Multiplication by 180/π, then φ = 180m/ (m + M) degrees/second

Multiplication by (36526/T), then φ = [m/ (m + M)] (180)(36526/T) degrees/century

Multiplication by 3600, then φ = [m/ (m + M)] (180) (36526/T)(3600) seconds/century

With Planet Mercury: m = 3.2x1024kg; M = 2x1030kg 

Then φ = [3.2x1024/ 2x 1030] (180) (36526/T)(3600) seconds of an arc per century

And φ = 43.03426909''/century

  φ = 2 π m/2(m + M) = π m/ (m + M)
And [(I – O)/O] δ θ’0 = [π m/ (m + M)] (180/ π) (36526/T) (3600)]
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Boundary value Law

With d² (m r)/dt² - (m r) θ'² = - k/ r² Inverse square Gravitational   (1)   
And d (m²r²θ')/d t = 0                            Kepler's law                      (2)                                          

         At Perihelion: d² r/d t² - r θ'² = - GM/r² = - r θ'²; d² r/d t² = 0

         Then   r θ'² = GM/r² 

        A quick answer by Newton would be: First θ' ² = [GM/r³] 
  And ω² = [GM/r³] [(v* m - v*e)/v* e] ²
In arc sec / century

        Then ω = {[GM/r³]} 1/2 [(v* m - v*e)/v* e] [(180/π) (3600) (36526/Tm) 
                   = 43"/century

[(I – O)/O] δ θ’0 

= {[GM/r³]} 1/2 [(v* m - v*e)/v* e] [(180/π) (3600) (36526/Tm)

Constant force law

Or, r 1 θ'² 1= r 2 θ'²2= constant 

Or, θ' 1= {√[r 2/ r 1]} θ' 2
And θ' 1 - θ' 2 = {[√ (r 2/ r 1)] - 1} θ' 2
Δ θ' = {[√ (r 2/ r 1)] - 1} θ' 2
This is the angular time delay and will be seen as angular visual Illusion

The angular speed is θ' = v/r

For Mercury:  θ' = v/r = (47.9km/sec)/58,200,000 km = 0.000000843 radians/sec

If you want the accumulation value in arc sec /century W", then

And W" = (v/r) (180/π) (3600) (26526/T) = angular velocity in arc sec per century. If it is measured for planet Mercury then 

W" = (47.9/58,200,000) (180/π) (3600) (26526/88)

W"= 70.29 arc second per century

Or, Δ W" = {[√ (r 2/ r 1)] - 1} W" (2)
What is the angular visual Illusion for planet Mercury that would be seen when measured from Earth with Earth location r (1) = Earth = 149.6 x 106

And r (2) = Mercury = 58.2 x 106

And W" (2) = - 70.29 arc sec /century

Δ W" = {[√ (r 2/ r 1)] - 1} W" (2)
Δ W" = {{√ [149.6/58.2]} - 1} [-70.29] = 43.0" arc per century
[(I – O)/O] δ θ’0 = 

{{√[r e/ r m]} - 1} (v m /r m)] [(180/π) (3600) (26526/T)
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Constant Areal velocity Law

Or, r² 1 θ'1= r² 2 θ'2 = location x speed = constant = Areal velocity

Or, r 1 v 1= r 2 v2
Or, θ' 1= (r 2/ r 1)² θ' 2
And θ' 1 - θ' 2 = [(r 2/ r 1)² - 1] θ' 2
Δ θ' = θ' 1 - θ' 2 = [(r 2/ r 1)² - 1] θ' 2
Δ θ' = [(v 1/ v 2)² - 1] θ' 2
This is the angular time delay and will be seen as angular visual Illusion

The angular speed is θ' = v/r

For Mercury:  θ' = v/r = (47.9km/sec)/58,200,000 km = 0.000000843 radians/sec

If you want the accumulation value in arc sec /century W", then

And W" = (v/r) (180/π) (3600) (26526/T) = angular velocity in arc sec per century. If it is measured for planet Mercury then 

W" = (47.9/58,200,000) (180/π) (3600) (26526/88)

W"= 70.29 arc second per century

Or, Δ W" = [(v 1/ v 2)² - 1] W" (2)
What is the angular visual Illusion for planet Mercury that would be seen when measured from Earth with Earth location r (1) = Earth = 149.6 x 106

And r (2) = Mercury = 58.2 x 106

And W" (2) = - 70.29 arc sec /century

Δ W" = [(v 1/ v 2)² - 1] W" (2)
Δ W" = [(v 1/ v 2)² - 1] (v m /r m)] [(180/π) (3600) (26526/T)
Δ W" = [(29.8/ 47.9)² - 1] [-70.75] = 43.0" arc per century
[(I – O)/O] δ θ’0 

= [(v e/ v m) ² - 1] (v m /r m)] [(180/π) (3600) (26526/T)
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No Force solution

Newton said there is gravity Force F = -GmM/r² whose solution is this 

 SHAPE  \* MERGEFORMAT 



Fig. 1.  Newton’s gravitational law

With m [d² r/dt² - θ'²r] = 0 Zero force law equation       (1)

And d (r²θ')/d t = 0                 Kepler's Areal Velocity Equation    (2)

Equation (2) r = r0 e í ω t; θ' = θ'0 e - 2 í ω t
Equation (1) - h² d² θ/ d u² - h² u³ = 0

Or d² θ/ d u² + u = 0

Then u = u0 e - í θ 
And r0 = r0 (0) e + í θ 

Or, r = r0 (0) e í (θ + ω t) [h/ θ'0]½ e í (θ + ω t)
And θ' = θ'0 e - 2 í ω t
Δ θ' = - 2 θ'0 sine² ω t 

      = - 2[2π/T] x [180/ π] [38526/T] [3600] sine² ω t
      = - 2 [2π/88 x 24 x 3600] x [180/ π] [38526/T] [3600] sine² ω t
      = - 141.5 sine² ω t
And ω t = arc tan [(r m - r e)/ (r m + r e)] ½  
           = arc tan [(149.6 – 58.2)/ (149.6 + 58.2)] ½  
Δ θ' = - 141.5 sine² arc tan [(149.6 – 58.2)/ (149.6 + 58.2)] ½  
      = 43 arc seconds per century

Or ω t = arc tan [(a - c)/ (a + c)] ½ = arc tan [(1 – ε)/ (1 + ε)] ½
[(I – O)/O] δ θ’0 = - 2 θ'0 sine² ω t 

= -2 sine² {arc tan [(r m - r e)/ (r m + r e)] ½} x 

(v m /r m)] [(180/π) (3600) (26526/T)
[(I – O)/O] δ θ’0 = - 2 θ'0 sine² ω t 

= -2 sine² {arc tan arc tan [(1 – ε)/ (1 + ε)] ½} x 

(v m /r m)] [(180/π) (3600) (26526/T)
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	Planet
	Distance r

X 106km
	Planet

Orbit T
	Orbit speed v in km/sec
	Less Earth speed
	Spin speed

km/sec
	Angular velocity; v/r 

arc sec/ century

	Mercury
	58.2
	88
	47.9
	18.1
	.002
	70.75

	Venus
	108.2
	224.7
	35.05
	5.7
	6.52
	10.86

	Earth
	149.6
	365.26
	29.8
	
	.46511
	4.1

	Mars
	227.936
	687
	24.14
	
	0.2411
	

	Jupiter
	778.412
	4333
	13.06
	
	12.6
	

	Saturn
	1,426.725
	10760
	9.65
	
	9.87
	

	Uranus
	2,870.97
	30690
	6.80
	
	2.59
	

	Neptune
	4,498
	60180
	5.43
	
	2.68
	

	Pluto
	5906.4
	90730
	4.74
	
	
	


Newton’s mathematically wrong [(I – O)/O] δ θ’0 =
(-720x36526x3600/88) (1.552) (48.14/300,000) ² arc sec per century

 = 43
This particular equation structure is the basis of stars studying. Originally, I derived it from Arabic real time physics literature. A visual Illusion along the line of sight is constructed as follows:

 Instead of seeing r0 we see r0 cosine arc tan (v/c) and perpendicular to the line of sight we see r0 sine arc tan (v/c)
Or r = r0 [cosine arc tan (v/c) + í sine arc tan (v/c)]

Or r = r0 e í arc tan (v/c)
Or r = r0 e í ω t
And areal velocity law gives the same results

If r² θ' = h

Then differentiating with respect to time

Then d (r² θ')/ d t = d h/ d t
 And 2 r r’ θ’ + r² θ’’ = 0

Or 2 (r’ /r) = - (θ’’/θ’)

The r = r0 e í ω t
And θ’ = θ’0 e – 2 í ω t
With r = r0 e í ω t
In real time r (n) = r (0) e í ω t
With r² (0) θ' (0) = r² (1) θ' (1)

Then θ' (1) = [r² (0)/ r² (1)] θ' (0) 
And θ' (1) = {[e í 2 ω t] θ' (0) 
And θ’ (1) = {[cosine 2 ω t + í sine 2 ω t] – 1} θ' (0) 
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Δ θ’ (1) = Δ θ’ (x) + í Δ θ’ (y) 

      = [cosine 2 ω t + í sine 2 ω t] θ' (0) 

Δ θ’ (x) = [cosine 2 ω t] θ' (0) 

Δ θ’ (x) = [1 – 2 sine² ω t] θ' (0) 

Δ θ’ (x) - θ' (0) = - 2 θ' (0) sine² ω t
Δ W = Δ θ’ (x) - θ' (0) = - 2 θ' (0) sine² ω t
                                 = -2(2π) [√ (1-ε²)]/T (1-ε) ²] sine² ω t 

And θ' (0) = h/r² (0) = 2 π a b/T a² = 2π√ (1-ε²)]/T (1-ε) ²  
Δ W = - 4 π) [√ (1-ε²)]/T (1-ε) ²] sine² ω t
If this apsidal motion is to be found as visual effects, then            

With, v ° = spin velocity; v* = orbital velocity
And v/c = (v* + v°)/c = tan ω t
Δ W = -4 π [√ (1-ε²)]/T (1-ε) ²] sine² {Inverse tan [(v* + v°)/c]} radians 
Multiplication by 180/π to change to degrees 

Δ W ° = (-720/T) {[√ (1-ε²)]/ (1-ε) ²} sine² {Inverse tan [(v* + v°)/c]} Degrees 
And multiplication by 1 century = 36526 days and using T in days  

W° (ob) = (-720x36526/Tdays) {[√ (1-ε²)]/ (1-ε) ²} x

                sine² {Inverse tan [(v* + v°)/c]} degrees/100 years

Abstract: light measurements are done along the line of sight and we measure light projections to our eye. Meaning, that we do not measure distance r but we measure r cosine arc tan (v/c) when light is used and as a consequence instead of measuring time T we measure T cosine arc tan (v/c) and here is the experimental proof of it.   

Your eyes
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                                  1                      2                  3  

 The projections of light is what we measure and the projection of 1 and 2 and 3 is AB
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If the angle between ray 1 and AB is θ (1)
If the angle between ray 1 and AB is θ (2)
If the angle between ray 1 and AB is θ (3)
 

Then C (1) cosine θ (1) = C (2) cosine θ (2) = C (3) cosine θ (3) = c = AB
 You want experimental proof?

Here is my iron clad proof of my theory: This is using the light projections to be equal c then the advance of perihelion and stars to solve mercury Venus and DI Herculis binary stars better than all is 

If an object at location A sends light signals in all directions at time at t = 0 where B1 is; 

And B1 is moving to B2 then the projection of AB2 of AB1 is measured.  AB1 is theorized and AB2 is measured; or AB2 = AB1 cosine θ
And θ = arc tan (v/c)

B1B2 /AB1 = sine θ; AB2/AB1 = cosine θ; B1B2/AB2 = tan θ 

Instead of measuring time t we theorize time t and we measure time Γ = t cosine θ
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Γ = t cosine arc tan (v/c) = t {1- 2 sine² {[arc tan (v/c)]/2}}

Γ - t = - 2 t sine² {[arc tan (v/c)]/2}

With r2θ’ = h and I/T= θ’’/θ’ = - 2r’/r = 2/t

Or T = t/2 or the time measurements changes are twice period changes  
Or (Γ – t)/2 = - t sine² {[arc tan (v/c)]/2} is the time delays for periods

With t = 1 century and t in arc seconds is 15 times time seconds then

(Γ – t)/2 = - 15 T sine² {[arc tan (v/c)]/2}; T = One century
With v = 47.9 (mercury) – 29.8 (Earth) =18.1 km/sec 

(Γ – t)/2 = - 15 (36526) sine² {[arc tan (18.1/300,000)]/2] = 43

Or (Γ – t) = - 30 (36526) sine² {[arc tan (18.1/300,000x√2)]/2] = 43
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Nicoklaus Copernicus Distance Illusion 

[(I – O)/O] δ θ’0 = [(r m – r e)/ r e] (v m /r m) [(180/π) (3600) (26526/T m)] = 43
[image: image11.png]



M r Copernicus you are wrong

Or Galileo’s Velocity Illusion

[(I – O)/O] δ θ’0 = [(v m T m – v e T e)/ v e T e] (v m /r m) [(180/π) (3600) (26526/T m)] = 43
[image: image12.png]



M r Galileo you are wrong
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Or Tyco Brahe’s 
[(I – O)/O] δ θ’0 = [(v m – v e)/ v e] (v m /r m) [(180/π) (3600) (26526/T m)] = 43
[image: image13.png]TiokoBahe -5




M r Tyco Brahe you are ok but you are wrong
Hooke’s [(I – O)/O] δ θ’0 
= - 2 sine² {[(v e/ r m) t s] /2} (v m /r m) [(180/π) (3600) (26526/T m)]
Or Johannes Kepler Period Illusion

[(Tm/ Te) 2/3 – 1] (v m /r m) [(180/π) (3600) (26526/T m)] = 43
[image: image14.png]



M r Kepler you are OK but you are wrong 
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Or Le Verrier Frame Illusions

[(I – O)/O] δ θ’0 = [(v* e +/- vº e) /r m) [(180/π) (3600) (26526/T m)] = 43
[image: image15.png]



Wrong
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Or Newton’s Inverse Square force mass Illusion

[(I – O)/O] δ θ’0 = (π m/M) [(180/π) (3600) (26526/T m)] = 43
[image: image16.png]



Mr Newton you are wrong physicist

Or Laplace’s wrong [(I – O)/O] δ θ’0 =
(-720x36526x3600/T) {[√ (1-ε²]/ (1-ε) ²} [(v*m + v° m)/c] ² seconds of arc per century
= 43
[image: image17.png]



Mr Newton you are wrong mathematician either
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 Or Yukawa’s:  
[(I – O)/O] δ θ’0 Mr Yukawa I am definitely not talking about you are wrong
[image: image18.png]



= 15 x (36526/T² (days)] [(r m – r e)/ r e] = 43
= 15 x (36526/T² (days)] [(v m T m – v e T e)/ v e T e] = 43
= 15 x (36526/T² (days)] [(v m – v e)/ v e] = 43
= 15 x (36526/T² (days)] [(Tm/ Te) 2/3 – 1] = 43
Or, Center of mass gravity equation
  [(I – O)/O] δ θ’0 = [π m/ (m + M)] (180/ π) (36526/ T m) (3600)] = 43
[image: image19.png]



M r Pierre Laplace
The solution to F = -GmM/r² is not 
r = [a (1-ε²)/ (1+ε cosine θ)] and it is time you get corrected
Real time solution is: r (θ, t) = [a (1-ε²)/ (1+ε cosine θ)] ℮ [λ (r) + ỉ ω (r)] t
"Apparent advance of perihelion"
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Or, Boundary value law 

[(I – O)/O] δ θ’0 =

= {[GM/r³]} 1/2 [(r m – r e)/ r e] [(180/ π) (3600) (36526/ T m) = 43
= {[GM/r³]} 1/2 [(v m – v e)/ v e] [(180/ π) (3600) (36526/ T m) = 43
= {[GM/r³]} 1/2 [(Tm/ Te) 2/3 – 1] [(180/π) (3600) (26526/T m)] = 43
= {[GM/r³]} 1/2 [(v m T m – v e T e)/ v e T e] [(180/π) (3600) (26526/T m) = 43
Or, Constant Fore law
[(I – O)/O] δ θ’0 = 

{{√[r e/ r m]} - 1}  (v m /r m)] [(180/π) (3600) (26526/T) = 43
Or, constant areal velocity law

[(I – O)/O] δ θ’0 

= [(v e/ v m) ² - 1] (v m /r m)] [(180/π) (3600) (26526/T) = 43
Or, No force law one
[(I – O)/O] δ θ’0 = - 2 θ'0 sine² ω t 

= -2 θ'0sine² {arc tan [(r m - r e)/ (r m + r e)] ½} x 

(v m /r m)] [(180/π) (3600) (26526/T) = 43
Or, No force law two

[(I – O)/O] δ θ’0 = - 2 θ'0 sine² ω t 

= -2 sine² {arc tan arc tan [(v m T m – v e T e)/ (v m T m + v e T e)] ½} x 

(v m /r m)] [(180/π) (3600) (26526/T) = 43

Or, No force law three

[(I – O)/O] δ θ’0 = - 2 θ'0 sine² ω t 

= -2 sine² {arc tan arc tan [(1 – ε)/ (1 + ε)] ½} x 

(v m /r m)] [(180/π) (3600) (26526/T) = 43 

With Newton’s mathematically wrong 

[(I – O)/O] δ θ’0 =
(-720x36526x3600/T) {[√ (1-ε²]/ (1-ε) ²} (v*m + v° m/c) ² Seconds of arc per century 

Real time (Γ - t)/2 = - 15 T sine² {[arc tan (v/c)]/2} = 43
Or wrong time (Γ - t) = -30 T sine² {[arc tan (v/c x√2)]/2} = 43 

For v << c: (Γ - t)/2 = 3.75 t (v/c) ² = 43
All rights reserved
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Pink Line is actual distance = r 0


Black Line is vertical to line of sight distance = r 0 sine θ


Blue Line is horizontal or line of sight distance = r 0 cosine θ
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